
Chapter 4: The Origins of the Modern StatePrinciples of Comparative Politics406

5.	 The Distribution of Public and Private Goods:  
The Size of the Winning Coalition

Suppose that a political leader raises $1 billion in tax revenue. Assume that the leader can supply 
public goods worth $2,000 to each individual in society if he spends all of this tax revenue on 
providing public goods. Assume also that the size of the winning coalition is 250,000. With all 
of this in mind, answer the following questions.

a.	If the leader were to spend all of the tax revenue on providing private goods, what would 
the maximum value of the private goods be for each member of the winning coalition if 
we assume that they all receive the same amount?

b.	Would the leader prefer to provide only public goods or only private goods in this 
situation? Why?

Now suppose that the size of the winning coalition is 750,000. Keeping everything else the 
same, answer the following questions.

c.	 If the leader were to spend all of the tax revenue on providing private goods, what would 
the maximum value of the private goods be for each member of the winning coalition if 
we assume that they all receive the same amount?
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